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English-100
Text: English For Today (NCTB)
Grammar: My English Grammar
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A : Text:60

1. Reading Test

a) Choose the best answer 5

b) True / False 10

c) Answer Question 10

d) Mathcing 5

2. Word meaning 10

3. Make sentence with given word. 10

4. Write 8 lines of mentioned poem by heart 10

B : Grammar:40

6.Rewrite the sentence using punctuation and capitalization 5

7. Application/ Letter 5

8.Paragraph 10

9. Grammatical Question ( 4 out of 6) 20
Total = 100

Half Yearly Exam
EFT : Unite : 1-4
Grammar : Language, Grammar, Sound, Letter, vowel and Conso-
nant, Word, Sentence

Application :
1) For leave of absence 2) For early leave
Paragraph : 1) The cow 2) My mother

Annual exam
Unite : 5-8
Grammar : Subject & Predicate, Parts of Speech, Noun, Pronoun,
Verb, Adjective, Adverb

Application :

1) For a transfer certificate 2) For remmission of delay fine
Paragraph :

1) A teacher 2) My country
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